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QUESTION 1

You want to create a new storage pool of SSDs to provide a performance tier for FlashPool-enabled aggregates on
node1 and node2. You expect that the FabricPool aggregates on node1 will require more of the performance tier than
the aggregates on node2. 

Which action satisfies the requirement? 

A. Use thestorage pool reassigncommand to reassign storage pool allocation units from node2 to node1. 

B. Use thestorage disk reassigncommand to reassign disk from SSD storage pool from node2 to node1. 

C. Use thestorage pool addcommand to add HDDs to the FabricPool aggregates on node1. 

D. Use thestorage pool modifycommand to change the parity of the RAID groups in the storage pool to RAID-4. 

Correct Answer: A 

 

QUESTION 2

Which two statements about replicating FlexGroup volumes are true? (Choose two.) 

A. You can increase the capacity of a FlexGroup volume that is being replicated. 

B. You cannot perform a resync on a FlexGroup SnapMirror relationship after it has been broken. 

C. The SnapMirror relationship type must be XDP. 

D. The SnapMirror relationship type must be DP. 

Correct Answer: AB 

 

QUESTION 3

You configure a new LUN on a NetApp cluster, and you can successfully access it from the host. An application using
the new LUN is having storage performance problems, and ONTAP is reporting misalignment on the LUN. 

In this scenario, what is causing the performance and misalignment problems? 

A. The LUN was created with the incorrect OS type. 

B. The host does not support ALUA. 

C. The igroup is configured without Selective LUN Mapping (SLM). 

D. The host is using a non-optimized SAN path. 

Correct Answer: A 
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QUESTION 4

In an aggregate with only thick-provisioned volumes, you need to split a FlexClone volume from its parent volume.
There are other volumes in the aggregate. 

In this scenario, how much space must be available within the containing aggregate? 

A. You need enough space for twice the size of the parent volume. 

B. The split FlexClone volume must be created in a new aggregate. 

C. You need enough space for half the size of the parent volume. 

D. You need to double the space in the existing aggregate. 

Correct Answer: A 

 

QUESTION 5

You want to create an SVM disaster recovery relationship for a production SVM. When you create the destination SVM,
which vserver subtype should you choose? 

A. dp-destination 

B. sync-destination 

C. default 

D. sync-source 

Correct Answer: B 
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